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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(i)

(iii)

(iv)

(v)

(vi)

(vii)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark

each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks

each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

Read the following statements carefully :

Statement 1: Balance of Payment account is always balanced in
accounting sense.

Statement 2 : Autonomous transactions, restore balance in Balance of
Payment account.

In light of the given statements, choose the correct alternative from the
following : 1

(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.

58/4/2 3> 25 P.T.O.
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2. (A) If the Marginal Propensity to Save (MPS) is 0-5, what will be the
value of investment multiplier ?  (Choose the correct alternative) 1
(a) 1 (b) 2
(c) 16 (d) 145
OR
(B) An increase in National Income occurs by ¥ 3,000 crore, as
investments increased by ¥ 1,200 crore. The value of investment

multiplier would be _ )
(Choose the correct alternative to fill up the blank) 1

(a) 2 (b) 25
(c) 4 d 5

3. An Indian company receives a loan from a company located abroad. This
transaction would be recorded on the side of
account in India’s Balance of Payment.

(Choose the correct alternative to fill up the blanks) 1
(a)  Credit, Current
(b) Debit, Current
(c) Credit, Capital
(d)  Debit, Capital

4, Read the following statements carefully :
Statement 1: Investment is defined as addition to the physical capital
and changes in the inventory.
Statement 2 : At equilibrium level of income, ex-post investments and
ex-post savings are always equal.

In light of the given statements, choose the correct alternative from the
following : 1
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

5. Demand Deposits include .
(Choose the correct alternative to fill up the blank) 1

(a)  Currency and coins held with the public

(b)  Other deposits with the Government

(c) Savings Account Deposits and Fixed Deposits
(d)  Current Account Deposits and Fixed Deposits

58/4/2 <85> 25 P.T.O.
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6. (A) Read the following statements carefully :

Statement 1: Depreciation of domestic currency may lead to a
rise in exports.
Statement 2 : Due to the depreciation of Indian National Rupee
(%), purchasing power of US Dollar ($) may
increase.
In light of the given statements, choose the correct alternative
from the following : 1
(a)  Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d)  Both Statements 1 and 2 are false.
OR
(B) Identify, which one of the following is an intangible item in
Balance of Payment (BoP). 1
(a)  Export of food grains
(b)  Imports of crude oil
(c) Export of Information Technology (IT) services to U.S.A.
(d) Import of coal by steel company in India

7. (A) Choose the correct alternative to fill in the blanks (i) and (ii) in the

figure. (1) se——I1COME

Factors of Production

i

Household

Goods and Services

(11) p——— Lxpenditure

Alternatives :
(a) National, Production (b) Factor, Production
(c) Factor, Consumption (d) National, Consumption
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(@ Imfafldd sied,

58/4/2 ai



“®collegebatch con

(B) Operating Surplus does not include

(Choose the correct alternative to fill up the blank) 1
(a) Interest (b) Rent
(¢c) Profit (d) Compensation of employees

Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below. 1

Assertion (A) : Rich people have lower Marginal Propensity to Consume

(MPC) as compared to poor people.

Reason (R): Consumption curve makes an intercept on the y-axis at a

point above the origin.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

The Reserve Bank of India (RBI) government securities in a

bid to the stock of money in the economy.

(Choose the correct alternative to fill up the blanks) I

(a)  sells, decrease
(b)  purchases, decrease
(c) sells, increase

(d)  purchases, not change
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10. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative given below. 1

Assertion (A) : Excess demand does not lead to any increase in the level
of real output.

Reason (R): Excess demand creates a gap between actual demand and
desired demand corresponding to full employment level.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

11. (a) “The central bank needs to intervene under the managed floating

system.”
Do you agree with the given statement ? Support your answer with
valid reasons. 3
OR
(b) Differentiate between Surplus in Balance of Trade and Current
Account Surplus. 3

12. Suppose the Gross Domestic Product (GDP) at market price of a country
in a particular year was ¥ 1,200 crore. Net Factor Income from Abroad
was T 120 crore. The value of Net Indirect Taxes was ¥ 130 crore and the
National Income was ¥ 950 crore. Calculate the value of depreciation for
the economy. 3

13. Read the following text carefully :

“After setting up a working group to study the possibility of a Central
Bank Digital Currency (CBDC) in India in 2020, the RBI revealed a
concept note on digital rupee (e-Rupee) on 7t® October, 2022.”

“The e-Rupee will provide an additional option to the currency available
forms of money. It is substantially not different from bank notes, but
being digital it is likely to be easier, faster and cheaper.”

58/4/2 <> 25 P.T.O.
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RBI 7 &&l g foh, J&I IR W CBDC & fhea &4 4 Hhg™ o gr1 I/

ERIEEREICH] (legal tender) & ®9 § YRUTYT fham S Teha1 B | I8 3T &9

T AT ol (paper currency)% aqE 7 |

3T IGWT 9 WU U o AR W efeifaa gt & 3w ffvw

(%) IWIH 3G H IO hg S % B hHl UgAH Hife T foa=m
HIT |

(@) fefoea sun = =gl g @l =1 Seorg HINT | 3+1=4

T Tyl wged i feufa ® 7 | Frfafga el g1 wam 3uviT %
eI <l AT HIfT | 4
T ™ = T 5,000 HUS

€T s Sgid (MPS) = 0-2

fom =@ = T 800 U

15. G&9 4 == shivie foh, @R forg geer f=fefaa gro stoehifa < feafa =

16.

58/4/2

Frafa & gt ® 4
(%) wugE Hifd
(@) u&R = ifd

(®) () “or T W@ 8 Fi % afan w g S Tavas awqd
A f5[eeh 9eE Hdt 7 |7
3fid foru U GEe) W9l & I hl UgEH U 9 e

ST | 4
Gi) T=faRea = gfenfya Hife . 2
(1) TSEd =1eT
(2) Tty =TT
YT

<> =
1o



14.

15.

16.

58/4/2

“®collegebatch con

RBI said that it broadly defines CBDC as the legal tender issued by a
central bank in a digital form. It is akin to paper currency in a different

form.

On the basis of the above text and common understanding, answer the

following questions :

(a) Identify and discuss the function of central bank indicated in the

above text.

(b)  State any two advantages of digital rupee. 3+1=4

An economy is in equilibrium. From the following data, calculate the

value of Autonomous Consumption. 4

National Income = ¥ 5,000 crore

Marginal Propensity to Save (MPS) = 0-2

Investment Expenditure = ¥ 800 crore

Discuss briefly, how the government can control the situation of deflation

using the following : 4
(a)  Taxation Policy

(b)  Government Expenditure Policy

(a) (1) “Government provides essential items like food grains almost
free to the families below poverty line.”
Identify and explain the objective of the government budget
indicated. 4

(ii) Define the following : 2
(1) Revenue deficit
(2) Primary deficit

OR

<1> o) P.T.O.
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(b) State whether the following statements are true or false, with valid
reasons : 6

(i) High tax on higher income groups aims to achieve the
‘reallocation of resources’ objective of the Government.

(ii)) Borrowings are a revenue receipt of the government.
(iii) Fiscal deficit always leads to inflation.

17. State the meanings of : 6
(a)  Economic territory
(b)  Mixed income of self-employed
(c) Compensation of employees

SECTION B
Indian Economic Development
18. (A) Economic reforms were introduced in the year in India
and in the year in Pakistan.
(Choose the correct alternative to fill up the blanks) 1
(a) 1978, 1988 (b) 1988, 1978
(¢c) 1978, 1991 (d) 1991, 1988
OR

(B) Pakistan is ahead of India in the case of .
(Choose the correct alternative to fill up the blank) 1

(a) HDI value
(b) Per capita income

(¢) Access to sanitation facilities
(d) Life expectancy at birth

19. Arrange the following events of China in chronological order and choose
the correct alternative : 1
(1) Great Proletarian Cultural Revolution
(i1))  Great Leap Forward Campaign
(i1i)) Introduction of Economic Reforms
(iv)  First Five Year Plan

Alternatives :
(a) (1), (iv), (ii1), (1) (b)  (Gv), (i), (1), (ii1)
() (1), (iv), (1), (ii1) d  Gv), [, (1), (ii1)

58/4/2 <15 > 25 P.T.O.
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20. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below.

Assertion (A) : The nature of unemployment problem in India is

multi-faceted.

Reason (R): Worker-Population ratio is an indicator used for analysing

the employment situation in a country.

Alternatives :

(a)

(b)

(c)
(d)

Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
Assertion (A) is true, but Reason (R) is false.

Assertion (A) is false, but Reason (R) is true.

21. Under the British Rule, commercialisation of agriculture resulted in

shifting of agricultural production from __ crops to crops.

(a)
(b)
(c)
(d)
22. (A)
58/4/2

(Choose the correct alternative to fill up the blanks)
Cash, Food
Cotton, Jute
Food, Cash
Jute, Food

Identify, which of the following alternative is not associated with

goals of economic planning in India.

(a) Ensuring equitable standard of living
(b) Technological advancement

(¢c) Increase in economic growth

(d) Promoting imports of luxury goods

OR

<lar> o) P.T.O.
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(a) 3T (A) 3R HROT (R) AT TF & I HRU (R), 317hed (A) i
&l SARSAT HLaT B |

(b)  AMHAT (A) IR ST (R) Al TcT 8, Afhd RO (R), AMTHAT (A)
1 FE AT 7T AR |

(¢) 3T (A) T 3, Wlhd RO (R) I8 3 |

(@) 3R (A) T 7, Afehd SR (R) I 7 |

(%) Y1 &9 (Carrying Capacity) 1 319 &, T |
(i)  GEre fsehyvl, gaSHA 61 g | % g1 918 |
(i)  TETed sy, gasA 6l g | AfH gHT 1T |
(i)  STIAT IcUTET TATSOT shl AT &A1 o i’ BT =11RT |
(iv) 7Y IcqTE UATaRul Shl STaRIY &mdr & Afeeh gHT A=y |
(Tt faspeq =1 =@ hifSe)
ferehed

(a) @OF3Ev) (b) (1) 9 (iii)
(¢) (i1 9 (iid) (d) @G 9 >Gv)
37T
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(B) In 1951, agricultural contribution to India’s National Income was
. (Choose the correct alternative to fill up the blank)
(a) Highest among the three sectors
(b) Lowest among the three sectors
(c) Lower than the industrial sector
(d) Lower than the service sector

markets were organised to protect the farmers from
malpractices in mandis.
(Choose the correct alternative to fill up the blank)

(a)  Regulated (b)  Periodic
(c) Daily (d)  Weekly

Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative given below.

Assertion (A) : China adopted the ‘Open Door Policy’ as a major economic

reform initiative.

Reason (R): It aimed at industrialising the country on a massive scale.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

(A) Carrying Capacity implies that
(i) Resource extraction should remain below the rate of
regeneration.
(ii) Resource extraction should remain above the rate of
regeneration.
(iii) Generation of waste should remain within the absorption
capacity of the environment.
(iv) Generation of waste should be more than the absorption
capacity of the environment.
(Choose the correct alternative)

Alternatives :
(a) (i) and (iv) (b) (i) and (iii)
(¢) (ii) and (iii) (d) (1) and (v)

OR
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(@) Jureft aTifesfas dqe @i g il ], SF @t 8
anm g g | (TF wam v & fow w& fowed &1 ==@ HifSw) 1
(a) TERH® HiY b) e Hiy
(¢)  YUWETd 6N (d) TERdE HiY

26. fm=fcIiaad weAi 1 SIHYEs aley
HIT1: IIH faehma @ qreas fopeft Tsg shi aredfaes Tsd ST § g A 7 |
FI72: HHA goit fmier 9 Tg foehE Hl ThEEH STgErod § |
feu Tu At & 3T H, FEfdiad § 9 w&E fosheq w1 wEe i 1
(a) YT 19T 7 N HAH 2 37WA 3 |
(b) HIT 13THT g AN HA 2EA 7 |
(c) I 1IN 2T AA T |
(d) I 1R 2THN A 7 |

27. Trafafad HeAi 1 eIHgEs ufeu
FYT1: “TIaIdT Hehdeh AR ol feu U gaenfaes gxeqor <hi dr sl J19d

g
FYT2: NG AU AR i I TAeTe T YgH HAT 7 |
feu Tu el % 3metes U, Fmfifaa @ @ @t fawew o1 =@ Fif 1

(a) HIT 1T AN FIT 23T 7 |
(b) HIT 1T R AN FITI2TT 8 |
(c) YT 1 2gH acF B |

(d) YT 1A 2TH IEH B |

28. (%) “orilu=iies &9 & a9 Sfu=iieh &9 H TSR HoM il A9

2 17 9= qenl |igd U U eF w1 THY AeT Wed i | 3
ST
(@) v fafadie # SgEn o § RN TR H ek i e
iU | 3
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(B) system restores, maintains and enhances the ecological
balance. (Choose the correct alternative to fill up the blank) 1
(a) Chemical farming (b) Organic farming
(c) Conventional farming (d) Multi-layered farming

26. Read the following statements carefully :

Statement 1: Economic growth means the increase in real national
income of a country.

Statement 2: Human capital formation and Human development are
one and the same concepts.

In light of the given statements, choose the correct alternative from the

following : 1

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

27. Read the following statements carefully :
Statement 1: ‘Liberty indicators’ measure the extent of constitutional
protection given to the citizens.
Statement 2 : India provides fair constitutional protection to its citizens.
In light of the given statements, choose the correct alternative from the
following : 1
(a) Statement 1 is true and Statement 2 is false.
(b)  Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

28. (a) “It is necessary to create employment in the formal sector rather
than in the informal sector.”

Defend or refute the given statement with valid arguments. 3
OR

(b)  Explain the role of non-farm employment in promoting rural

diversification. 3
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29. UM Wiy T & gl ¥ fou mu fam i e i | 3

TIE : HEITIET 397 $act FRETT qhemfean & 170 397 G&41 29 % &9 T 8 :
forell T IamT TTeRui YT s faa=mr hif | 3

30. 1991 1 3nfdies Gur Ufsham & HH, WRA THR g1 Iy fepu M focfia &
T Tetud forgl e Ieiieur 39rl shl == hifvT | 4
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29. Interpret the given picture with reference to current environmental
challenges. 3

Note : The following question is for the Visually Impaired Candidates only, in
lieu of Q. No. 29 :

Discuss any one current environmental challenge. 3

30. Discuss any two liberalisation measures pertaining to the financial
sector, introduced by the Government of India during the economic

reform process of 1991. 4
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= fou MU SAfeRsi ®, Ta Uod Jhg / Tehal Sl 3cuTg i feenm § wRa g ==
% IR ANEH <l T HITT |

TFHT o Jlg | GHeT T 37978 7 &FaR FITerT (% H) (2018 - 19)

&7 Yy Cich
Eat| 16 7
3T 30 41
gard 54 52
Fd 100 100

“fopeft g o e ISRt fmfor § 6 R ANTEE Td & |7 R ST 3H heH °
HgHd 3 ? 3194 IR 1 3iifaey fag hifsu |

ffeTRad 3G i SAMYEe dfeU

HTEET W T ok axieh AGUT

JFER, 2014 ¥, WRA THR + HEE G AW AT (SAGY) THH Th 5
AT T AT I | 38 AT o FAHTd URA & TTEEH ol Teh Tia hl Ig9H
H IR TIhfd T hl AEIHAT & | Y& B % [T, TEE I8 2016 Th
Ueh IS Tid o €9 H Tsh Tia ol {Iehfid L Tehd 8 W g9 2019 T & 3N
e foepfd & 8, 9Ra § 2,500 T 31feres Tl ol A S hl ToHT 8 |
ASHT o GaTfeeh, Tid o BT ATl § 3,000 — 5,000 3T IgTEl STl §
1,000 — 3,000 hT TS Bl Tehell & R TTEG T g bl AT A4 Tfcd/dl 1
a8} BFT TEY | TTEE g7 Ueh Tid o foshid IS hl 3R L @ & b,
9 YTHIUN <l TTAfeRl bl o4 o faw Ufd o 3T Tameey, qoer 31T f3reqm =
gt B et gre w1 fmior s & fore uftd i |

few U 3t 9 = gug % snuR ) fAefafgd g & 3o A

(%) T Tl q LT+ Iooi@ 9 I= HIfG T fh, aRa TR TiEg

e T AT (SAGY)’ gRT 9IS AT =mgat off |
(@) %ﬁﬁw%mﬂﬁmﬂﬁ%mnﬂéﬁwm
|
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31. From the data given below, compare and contrast India’s and China’s
sectoral contribution towards GVA / GDP. 4

Sectoral Contribution to GVA/GDP (in %) (2018 — 19)

Sector India China
Agriculture 16 7
Industry 30 41
Services 54 52
Total 100 100
32. “There are many factors which contribute to human capital formation of
a country.” Do you agree with the statement ? Justify your answer. 4

33. Read the following text carefully :
Adoption of Village by Parliamentarians

In October, 2014, the Government of India introduced a new scheme
called Saansad Adarsh Gram Yojana (SAGY). Under this scheme,
Members of India’s Parliament need to identify and develop one village
from their constituencies. To begin with, MPs can develop one village as a
model village by 2016, and two more by 2019, covering over 2,500 villages
in India. According to the scheme, the village can have a population of
3,000 — 5,000 in the plains and 1,000 — 3,000 in the hills and should not
be the MP’s own or their spouse’s village. MPs are expected to facilitate a
village development plan, motivate villagers to take up activities and

build infrastructure in the areas of health, nutrition and education.

On the basis of the given text and common understanding, answer the

following questions :

(a) State and discuss, any two objectives which the Government of
India wanted to achieve through ‘Saansad Adarsh Gram Yojana

(SAGY). 4
(b)  State the yardsticks for selecting villages under the SAGY Scheme. 2
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HY & § AN fopT MU W IR hT AEwIHhar 3R 3ok ThR

<1 =T Hifu | 3

ST 3 % AUE Enfies fawe 4 gdafe & ol @

JTOT Y[Rt T |idT T8 off ? e it | 3
arerat

e vt fh, gar w4 ofeifies & & e

fSaTEH 6 RIT R @ 3 | 4

fguefia qon sgHefla =R 4 favug il | 2
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Explain the need and types of land reforms implemented in

the agriculture sector. 3

Why was public sector given a leading role in industrial

development during the planning period ? Explain. 3

OR

Explain the reasons why the industrial sector has performed

poorly in the reform period. 4

Distinguish between the Bilateral and Multilateral trade. 2
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